Name:

Multistep Stories

A) Choose the correct word for what is underlined.

9x2=18 3x5=15
Factor Product Factor Product

B) Solve the multistep stories.

A shop has 3 apples and 6 pears. A bigger shop has 4 times as many fruits.

How many fruits does the bigger shop have?
I Step 1: Hidden question — How many fruit are there in all?

| Equation:

Step 2: Original question -

| Equation:

' Word Answer:

Word Answer:

There are 8 trees. Take away 2 trees. How many trees are there multiplied by 57

Step 1: Hidden question —

Equation:

' Word Answer:

. Step 2: Original question -

Word Answer:

i Equation:
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Mary has 6 boxes. There are 7 toys in each box. She takes away 32 toys.
How many toys does Mary have left?

Step 1: Hidden question —

Equation:

Word Answer:

Step 2: Original question -

Equation:

Word Answer:
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